
I can count in equal steps 
of 4 and 8
18.1.21



8 12 16 20 24 28 32 364 40

84 1612 2420 3228 4036

This magic counting stick can count in any size jump…
Today it is counting in jumps of 4.

Tuesday 19/01/21   L.O. I can count in equal steps of 4 and 8.

Do you notice anything about the numbers?



Tuesday 19/01/21   L.O. I can count in equal steps of 4 and 8.

168 3224 4840 6456 8072

Now the stick is counting in jumps of 8.

8 16 24 32 40 48 56 64 72 80

What do you notice about the numbers this time?

They are also even, and they are DOUBLE the numbers in the 4’s!

4 8 12 16 20 24 28 32 36 40

8 16 24 32 40 48 56 64 72 80
x2

44

88

48

96



4 8 12 16 20 24 28 32 36 40

8 16 24 32 40 48 56 64 72 80
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88

48

96

There are other patterns to spot too…

Have a look at the units digit of the numbers in the 4x table:

Do you think it will be the same with the 8x table?
Why?

Although the unit digits are the same as in 
the 4’s, they are in a different order so it 
makes a different pattern. In the 8x table 
the units digits are in the order you would 
count the even numbers backwards: 8, 6, 4, 
2, 0.

Tuesday 19/01/21   L.O. I can count in equal steps of 4 and 8.



Have a go at today’s Maths Task activity sheet: 

There is also a sheet with some blank circles if you would 
like to investigate what patterns you can make by
looking at the units digit of other times tables. 

 19/01/21 Maths Task  
 

Count in 4’s and colour in the squares. 

 

Count in 8’s and circle the numbers. 
 

Fill in the missing numbers in these number sequences: 

a)  4 ,    8 , ___ ,   16 , ___ , ___ ,   28 ,  32 , ___ ,  40 , ___ , ___ ,  52 , ___ , ___ . 
 

b)  8 ,  16 , ___ , ___ , ___ ,   48 , ___ ,  64 , ___ , ___ ,  88 , ___ ,  96 , ___ , 112 . 

Challenge: Can you complete this sequence? Are any numbers in all 3? 

6 ,   12 ,  18  ,  ___ ,  30 ,  36 , ___ ,  48 , ___ , ___ ,  66 ,   72 , ___ , ___ , ___ . 

 

 

4x table: 4, 8, 12, 16, 

20, 24, 28, 32, 36, 40 
 

19/01/21 Maths Task (optional) 

Investigate the patterns made by the different times table sequences.  
Which ones have the same pattern? Can you think why this might be? 


